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Energy impulses keep preserving their secrets. The errors in Newton's dynamics and electrodynamics

are the main causes of incomprehension of these secrets. A recovery of these errors will open new energy pos-

sibilities before mankind; these possibilities will rescue mankind from an environmental disaster, which is gen-

erated by hydrocarbon energy sources. It is not a naked forecast. Its authenticity is proved both theoretically

and experimentally.

1.Foundation of the Theory of Impulse of Force
and Impact Force

Mathematicians were the trailblazers of theoretical mechan-
ics. They tried for a description of the mathematics processes of
motion of the material points and bodies. It is natural they were
concerned about strictness of an implementation of mathematical
rules during a process of the derivation of the equations, which
describe a motion of the material points and bodies. They were
hardly interested in the mechanical essence of the results being
obtained. An authority of mathematics being the most exact sci-
ence preserved the point of view of the mathematicians and
blocked a road for an acquisition of the mathematical models,
which describe the mechanical essence of the results of the
mathematical operations of the mathematicians more exactly. Let
us show it in terms of the physical essence of the notions “im-
pulse of force” and “impact force” derived from the mathemati-
cal models of the mathematicians.

When the forces, which exert influence on the body, are con-
sidered, one takes into account its mass; the product of mass by

motion velocity mV is called momentum of the body or impulse
of force. When the body is in a quiescent state, its velocity and

momentum are equal to zero mV =0. When the body starts mo-
tion and acquires velocity, a change of momentum of the body is
written in the following way (Fig. 1) [1].

mAV =mV —mVo =mV —0=mV (1)
21 m0,
M mp
Q) .

4 :

Fig.1. Diagram to a determination of action of force S

Thus, momentum of a material point or body is a vector value
mV being equal to the product of mass m of the point or body
by its Velocityv. The vector mV is directed in the same way as
the vector V tangentially to the trajectory (Fig. 1).

A change of momentum of the material point mAV within a

certain time period is an effect of an action of force F on the ma-
terial point. The physicists have called this action an impulse of

force and have designated it by a symbolg (Fig. 1).
S=mAV ®)

2. Theorem on a Change of Momentum of Ma-
terial Point (Mathematical Symphony Frag-
ments)

A connection of impulse of force S with the main equation of
Newtonian dynamics is expressed by the theorem of a change of
momentum of the material point

Theorem. A change of momentum of the material point

AmV within a certain time period is equal to an impulse S of

force (mAV:g), acting on the material point within the same
time period. A mathematical proof of this theorem can be called
a mathematical symphony fragment. Here it is

ma=F=>m® -F=

o d(mV) =Fdt = dS. 3)

A differential of momentum of d(mv) the material point is

equal to an elementary impulse dS  of force, which acts on the
material point. If we integrate the expression (3) of the differen-
tial of momentum of the material point is, we'll have

t
mV —mV, :Il?dt =S. 4)
0

The theorem is proved, and the mathematicians think that
their mission is finished, but the engineers, whose fate is to trust
the mathematicians, have questions when they use the equation
being proved (4). But the questions are blocked by a succession
and beauty of the mathematical operations (3 and 4), which
charm and invite to call them a mathematical symphony frag-
ment. Many generations of the engineers agreed with the
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mathematicians and trembled before mysteriousness of their
mathematical symbols! But there appeared an engineer, who
disagrees with the mathematicians and puts questions to them.

Dear mathematicians, why none of your theoretical mechan-
ics manuals contains a consideration of a process of an imple-
mentation of your symphonic result (4) in practice, for example,
in the description of a process of an acceleration of a car? The
left-hand part of the equation (4) is clear to the limit. The car be-
gins the acceleration from velocity V;; =0 and ends it, for exam-
ple, at velocity of V =10m /s . It is natural that the equation (4)
becomes as follows:

t
mV—mVozjfdt:m~10—m-o

0

t t o)
=JthzS:>Sz10mszdt.

0 0

The first question arises at once: how is it possible to deter-

mine the force F, under which influence the car is accelerated up
to 10 m/s, from the equation (5)? None of the numerous manuals
devoted to theoretical mechanics has an answer to this question.
Let us go on. After the acceleration, the car begins a uniform mo-
tion with the obtained velocity of 10 m/s. What force moves the
car? There is nothing for it as to blush together with the mathe-
maticians. The first law of Newtonian dynamics states that when
the car moves uniformly, none of the forces acts on it, but the car,
so to speak, does not take this law into consideration; it con-
sumes fuel, does work and moves, for example, at the distance of
100 km. The symphonic mathematical equation (5) keeps silent;
life goes on and requires an answer. Let us start searching it.

As the car moves rectilinearly and uniformly, the force, which
moves it, is constant in its value and direction, and the equation
(5) becomes as follows:

t t
E:m?—mVo:J'th:§=mV:jfdt. ©)
0 0

Thus, in this case the equation (6) describes an accelerated

motion of a body. What is force r equal to? How can one express
its change in the course of time? The mathematicians prefer to
avoid this question and leave it to the engineers supposing that
they should search an answer to this question. The only oppor-
tunity is left for the engineers: they should bear in mind that
when the accelerated motion of the body is over, a phase of the
uniform motion, which takes place under the influence of con-
stant force F = const , starts, and they should present the equation
(6) for a moment of a transition from the accelerated motion to
the uniform motion in the following way:

t
g:mV—mvo:J.I_:dtjgzrnV:it. (7)

0
In this equation, an arrow designates a process of a transition
from its integral form to a simplified form, not a result of integra-

tion of this equation. In this equation, force [ is equivalent to the
averaged force, which has changed momentum of the body from
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zero to the end value mV . Dear mathematicians and physicists-
theorists, as you have no method of a determination of a value of

your impulseg , we have to simplify a procedure of the determi-

nation of force F ; as there is no method of a determination of
action time ¢ of this force, we are placed into a desperate situa-

tion, and we have to use an expression mV =F-t for the analysis
of the process of a change of momentum mV of a body. As a re-
sult, the longer the action of the force F = const is, the larger its

impulse§ is. It is at variance with the existing notions that the
smaller the time of action of impulse of force is, the large this
impulse of force is.

Let us pay attention to the fact that momentum of the materi-
al point (impulse of force) in case of its accelerated notion is
changed under the influence of Newtonian force and motion
drag force in the form of the forces, which are formed by me-
chanical resistances, and inertial force. But in the absolute majori-
ty of tasks, Newtonian dynamics ignores inertial force; mecha-
nodynamics states that momentum of the body in case of its acce-
lerated notion is changed due to an excess of the value of New-
tonian force over the motion drag forces, including inertial force
[1].

There is no Newtonian force in case of decelerated motion of
a body, for example, a car with the switched-off gear, and mo-
mentum mV of the car is changed due to an excess of the motion
drag forces over inertial force, which moves the car during its
decelerated motion [1].

How is it possible to return the results of the marked “sym-
phonic” mathematical operations into the course of cause and
effect connections? There is the only way out: it is necessary to
find a new definition of the notions “impulse of force” and “im-
pact force”. Let us divide both parts of the equation (7) by time t.
As aresult, we'll have

s:##:kg'm:kg’m 8)

s2 52

Let us pay attention to the fact that the expression mV/tis a
rate of the change of momentum (mV/t) of the material point or
the body. If we take into account that V/t is acceleration, mV/t is
force, which changes momentum of the body. A similar dimen-
sion to the left and to the right of an equal sign gives us the right
to call force F the impact force and to designate it with the help of
the symbol F, and impulse S the impact impulse and to desig-

nate it with the help of the symbol Sy . A new definition of im-
pact force appears from this. Impact force F,, which acts on the
material point or the body, is equal to a ratio of the change of

momentum mV of the material point or the body to the time of
this change.

S,="—-=F, ©)

Let us pay special attention to the fact that only Newtonian
force, which has changed velocity of the car from the zero value
to the maximal value V, takes part in a formation of impact im-
pulse Sy (9); that's why the equation (9) belongs to Newtonian

dynamics completely. As a value of velocity is much easier to
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register experimentally than a value of acceleration, the formula
(9) is very convenient for the calculations.
An unusual result appears from the equation (9).

mVdl_p = VI Ith
(10)

:mVlnt:Fyt:Fy— Vln—t

t

Let us pay attention to the fact that according to the new laws
of mechanodynamics the Newtonian force is a generator of the
impact impulse in case of accelerated motion of the material
point or the body [1]. It forms an acceleration of motion of the
point or the body when inertial force, which is directed converse-
ly to Newtonian force, appears automatically, and the impact
Newtonian force should overcome an influence of inertial force;
that's why inertial force should be presented a balance of the
forces in the left-hand part of the equation (9). As inertial force is
equal to mass m of the point or the body multiplied by a decele-
ration b; being formed by it, the equation (9) acquires the follow-

ing form

Syzm—tv+mb =F,. (11)

Dear mathematicians, have a look at the mathematical model,
which describes the impact impulse that accelerates a motion of
the body being stricken from zero velocity to maximal velocity V
(11). Let us check its operation in the determination of the impact
impulse S, , which is equal to the impact forceF,, which has

blasted the second energy unit of the Sayano-Shushenskaya
hydroelectric power station (Fig. 2), and the useless equation (6)
is left for you. In order to simplify the description, we let alone
the formula (10) and use the formulas, which give the averaged
values of forces. Have a look at the situation, in which you place

the engineer, who tries to solve a specific task.

Fig. 2. Photo of the turbine room before the disaster

Let us begin from Newton’s dynamics. The experts
determined that the second energy unit was raised at the height
of 14 m. As it was raised in the gravity field, its potential energy

at the height of 14 m was equal to
E=mgh (12)

Its average kinetic energy was equal to
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mv?

E, =
K=

(13)

The average rate of the rise of the energy unit (Figs 3, 4)
appears from the equality of kinetic energy (13) and potential
energy (12)

V=[2gl =+2-981-14 =16.57m /s (14)

Fig. 4. View of the well of the energy unit and of the energy unit

itself after the disaster

According to the new laws of mechanodynamics, the rise of
the energy unit consisted of two phases (Fig. 5): the first phase
OA is the accelerated rise and the second phase AB is the
decelerated rise [1], [4], [5].

Time and distances of their action are approximately equal
(h1=h2=7 m). The kinematical equation of the accelerated phase of
the rise of the energy unit will be written in the following way

[4]:
(15)

In the first phase, the law of the change of velocity of the rise
of the energy unit has the following view:
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Vet o 14 (16) A question arises at once: why is the value of the impact im-
t pulse (21) less than Newtonian force of 50600 tons (19)? Dear

Fig. 5. Regularity of a change of velocity V of the flight of the energy unit

If we place time from the equation (15) into the equation (16),
we'll have

L V2 _ (657

= = =19.61m / s2 17
2y 14 / (17)

Time of the rise of the energy unit in the first phase is
determined from the formula (15)

PO L N e LAY (18)
a V1961

Total time of the rise of the energy unit at the height of 14 m is
equal to t=2t;=1.68 s. Mass of the energy unit and the cover is
2580 tons. According to Newton’s dynamics, the force F, which
has raised the energy unit, is equal to [4]

F=ma=2580-10" -19.61 = 5.06 - 103 H = 50600tons (19)

Dear mathematicians, we are guided by your symphonic
mathematical results and write your formula (6), which results
from Newton’s dynamics, in order to determine an impact im-
pulse, which has blasted the second energy unit.

t
5= j Fdt (20)
0

And we put an elementary question: how is it possible to de-
termine the time of action of the impact impulse, which has
blasted the second energy unit?

Dear sirs, please, try to imagine tons of chalk being used by
the generations of your colleagues for writing on the blackboards
teaching the students transcendentally how to determine the
impact impulse S, and nobody explained how to determine ac-
tion time of the impact impulse in each specific case. You tell that
action time of the impact impulse is equal to a time interval of the
change of velocity of the energy unit from zero to, say, the
maximal value of 16.75 m/s (14). It is in the formula (18) and is
equal to 0.84 s. We agree with you for the time being and deter-
mine an averaged value of the impact impulse.

S =50600-0.84 = 42504tons (21)

mathematicians, you have no answer to it [4]. Let us go on.
According to Newton’s dynamics, the main force, which re-
sisted a rise of the energy unit, was force of gravity F, . As this

force is directed opposite the motion of the energy unit, it gener-
ates a deceleration, which is equal to free fall acceleration g=9.81
m/s2 Gravitation force, which acts on the energy unit moving
upwards, is equal to

F, =mg=2580-107-9.81=2.53-10°H = 25300, tons ~ (22)

Newton’s dynamics does not take into account other forces,
which hinder an action of Newtonian force of 50600 tons (19);
mechanodynamics states that inertial force resisted a rise of the
energy unit; inertial force is equal to [1]

;= mb, (23)

A question arises at once: how is it possible to find a value of
deceleration b; of motion of the energy unit? Newton’'s dynamics
keeps silent; mechanodynamics replies: force of gravity and iner-
tial force resisted Newtonian force, which raised the energy unit;
that’s why an equation of the forces, which operated on the en-
ergy unit at that moment, is written in the following way [1]:

F=F+F, =ma=mb;+mg=a=b;+g (24)
From here, we find deceleration
bj=a—g=19.61-9.81=9.80m /s> (25)

A value of inertial force, which decelerated the motion of the
energy unit in the first phase of its motion, is equal to

F. = mb; =2.580-107 -9.80 =2.530- 10 H = 25300tons  (26)

Thus, a sum of the forces, which resisted the action of Newto-
nian force, is equal to Newtonian force itself (19)

F =F; +F; =25300 + 25300 = 50600to0ns (27)

Please, do not be astonished: this result is an effect of the
main principle of mechanodynamics, which you do not know
yet. It replaced the similar erroneous d’Alembert’s principle,
which has been used long ago. It is a beautiful balance (27), but it
contains no forces of resistance of a break of 80 studs, which fas-
tened the cover of the energy unit (Fig. 6).

As it is clear from Fig. 6, an unbroken stud (to the left) has not
the smallest bending; it took place under the conditions when it
fastened the cover shielded the rotating object, which weight was
1780 tons. The rest broken studs (to the right) had not the small-
est hint that they were cut. Their view proves that only break
forces exerted influence on them; there were no shear forces, be-
cause if they were present, the surviving stud would be cut as
well, despite of the presence or absence of the nuts. As the bro-
ken studs have no areas of a gradual reduction of the diameter
towards the surface of the break, it proves a simultaneous nature
of the action of the vertical force, which breaks them (Fig. 6, to
the right)
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Fig. 6. Photo of the studs, which fastened the cover of the energy unit
Average specific stress of break of the rods made of CT-35
quality steel is 60kg / mm? =6000kg / cm? . The studs had diame-
d=75.67mm. Section of a stud
iss=7zr2 =3.14-38.02 =4534.16 = mm?*. As a result, breaking load

of one stud is F, =60-4534.16 = 272049.60kg = 272.05tons .. If we

ters of

take into account that thread of the nuts of six unbroken studs
was cut, the load of this cut differed insufficiently from breaking
load of the stud, and we can take into consideration all 80 studs.
Total load, which broke 80 studs, will be equal to

Fop =272.05-80 = 21764.00tons .

Dear mathematicians, what shall we do with your mathemat-
ics in Newtonian dynamics? When the energy unit started its
rise, three main forces of resistance to its rise acted on it: gravita-
tion force, inertial force and stud break resistance force. Their
total value is equal to [4]

Fo =Fy + F; + F = 25300 + 25300 + 21764 = 72364tons (28)

The results of your symphonic mathematical operations give
the value of impact impulse of 42504 tons (21). As I also spent 20
years writing your symphonic derivation of impulse of force and
impact force on the blackboard, I am guilty before my numerous
pupils and I must apologize for my deep unfounded belief in the
authority of mathematicians who were unable to make an ele-
mentary analysis of physical essence of the phenomena or proc-
esses being described.

Thus, in order to determine of impulse of force and impact
force, one should know the time, within which the velocity of the
energy unit changed from zero to the maximal value of 16,57
m/s (14). It is equal to 0.84 s (18). Then, we’ll have [4]

_mV. . _25300-1657

Sy . + mb;

+25300 = 524372.62tons = F,. (29)

Dear mathematicians, what shall we do? Shall we protest
against the quotation marks, with which the word “symphony”
mentioned in this article should be used?

There is one more version of a solution of this task. Let us
consider a bullet, which has left a cartridge. The main criterion of
the determination of a distance of action of impact force will be
the moment when according to the notions of orthodox physics
the gases, which form pressure and move the bullet, leave the
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closed space. Then, the length of a barrel of the arm can be con-
sidered as the distance, at which the impact force, which moves
the bullet, acts. As velocity of a flight of the bullet from the barrel
is known, action time of impact force Fy can be determined as a

quotient from a division of the length of the barrel, along which
the bullet moves, by velocity of its motion.

In the task being considered by us, the above-mentioned
functions belong to the upper part of the well of the energy unit
(Fig. 7); distance L of action of impact force is equal to the dis-
tance from the place of location of the studs fastening the cover
of the energy unit to the level of the floor of the turbine room
(Fig. 7). We do not know yet the nature of the forces, which
blasted the energy unit, but when the cover of the energy unit
was torn out, a closed space of the energy unit became an open
space in the same way as the closed space of motion of the bullet
in the barrel becomes the open space when the bullet leaves the
barrel.

We do not know this distance exactly; that's why we accept
for the calculation its approximate value being equal to L=0.80 m
(Fig. 7). Then, time of action of impact force on the energy unit
will be equal to the part of total time of the rise of the energy unit
of 1.68 s, which was spent for its displacement within the interval
of 0.00...0.80 m, i.e.

t,=1.68 /(h/L)=1.68 /(14 / 0.80) = 0.10s (30)
The Level of Turbine room
I The Cover of Energy Umt | lL
1 — |
/ | The Energy Ut |
2
F.'Ir
S00000.... 800000 tons

s

Fig. 7. Diagram of a determination of time of impact force action
on the energy unit

It is only natural that the initial value of the impact impulse,
and consequently the impact force, will be equal to the total force
of resistance to the motion of the energy unit of
25300+2530+21764=72364 tons divided by the impact time

E, = £ 72364 723640tons / s. (31)
t, 010

Dear mathematicians, what shall we do? Shall we take into
consideration time (30) of action of impact force or average veloc-
ity (14) of the flight of the energy unit? None of your newest
manuals devoted to theoretical mechanics contains an answer to
this question: that’'s why we give the results of the calculation,
which takes into account average velocity as well (14).



6 Kanarev: Energy Impulse Secrets

The impact impulse Sy (11), which is equal to impact

force F,, will be equal to [4]

Sy :m—V+mb,~ :M+2580-9.80
t 0.10 (32)
= 427248 + 25284 = 452532tons = F, .

Which value of impact force is closer to reality?

Dear mathematicians, where are your recommendations con-
cerning this matter? The answer to this question results from the
mathematical model, which takes into account all forces of resis-
tance to motion. Formula (31), from which a value of impact
force results, is the closest one to reality: F, =723640 tons [4].

Let us try to formulate a hypothesis, which would make it
possible to find a physical essence of the process that has gener-
ated the impact force being equal to 723640 tons. First of all, such
force is a result of an explosion. As the photons are the main par-
ticipants of pressure formation in case of any explosion, one can-
not exclude their participation in this process as well.

It is known that a gramme-molecule of water is equal to 18
grams. One litre of water contains 1000/18=55.56 gramme-
molecules of water. It is also known that quantity of molecules of
water in its one gramme-molecule is equal to Avogadro number
6.02:10%. It appears from this that one litre of water contains
6.02-1023-55.56=3.34-102> molecules of water.

Equipment at the Sayano-Shushenskaya hydroelectric power
station registered total section between the buckets of the hy-
draulic turbine, which was equal to 8.14 m2 when water stream
velocity via this section was 38.30 m/s [6]. Total volume of water,
which passed per second via this section, was 8.14-38.30=253.77
m3=2.54-105 litres =254 tons. The devices of the Sayano-
Shushenskaya hydroelectric power station registered that nearly
5 seconds passed from the run-away of the electric generator till
its blast [6]. Within this time, 254x5=1270 tons of water arrived
into the well of the turbine.

We must congratulate the water hammer adherents! They
have an opportunity to blush. Water mass, which formed their
water hammer, is 50600/1270=40fold less than Newtonian force
and 723640/1270=570fold less than impact force, which blasted
the energy unit.

Water volume of 2.54-105 litres contained 2.54-105-3.34-10% =
8.48-1030 molecules of water. A molecule of water is given in Fig.
8, a; a cluster of two molecules is given in Fig. 8, b. Actually a
water cluster contains much more molecules.

When water leaves the buckets, its velocity being equal to 38.3
m/s broke the clusters; they reached the turbine buckets and
fused again emitting the photons. The wavelengths of the pho-
tons are equal to their radii, which values depend on water tem-

perature. Let accept it as T, =15°C. This temperature forms

maximal quantity of the photons in the medium, which has the
same temperature; in water medium, these photons determine
binding energies of the electrons in the water molecules and wa-
ter clusters. A value of radius r of the photons is determined ac-
cording to Wien's formula

C'  2898-107°

A=r= =
273+7T, 273 +15

=1.0-10m (33)
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Fig. 8. Diagrams and photos of water clusters
Energies of these photons are equal to
-34 8
E:h C _6626-10"-2.998-10 —012eV (34)

r o 1.602-107?.1.0.107°

They are the infrared invisible photons.

It is natural that water in the gap between the buckets moved
in the form of linear clusters (Fig. 8, b), which were broken at the
exit from the gap between the buckets; they fused again in the
area of the turbine buckets emitting the photons. Approximately,
a volume of one photon is equal to [4]

Wy =7r° =3.14-(1.00-107)° =3.14-10""m’ (35)

For a comparison, let us give a value of the volume of the
electron, which has emitted this photon. It is equal to

W, =712 =3.14-(243-10712)3 =3.54.10%m1 (36)

Thus is a central item of the problem being analysed. The
volume of the photon, which is emitted by the electron in this
case, exceeds 20fold the volume of the electron. Thus, almost in
all processes of pressure formation, the main role is played by the
photons, not the gases as it has been considered previously.

An area of the cover of the energy unit is

S, = 7R? =3.14-(4.325)* = 58.75m> (37)
Then, a value of specific impact force will be

F, 723640

=12317.28tons / m> 38
V'S 5875 / (38)

We have no information concerning the depth of the turbine
well from the level of the floor of the turbine room to its bottom
(Fig. 9); that’s why we accept this value being equal to 20 m ap-
proximately. Then, the volume of the turbine well will be

Wy =Sy -20 =58.75-20 =1.18-10°m° (39)
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Fig. 9. Diagram of the energy unit and the turbine well

Now let us designate the total volume of all photons, which
have formed pressure, via Ww and determine a multiplicity coef-
ficient K of an excess of pressure inside the well being formed by
the photons, over atmospheric pressure [4]

Wi

T K (40)

Taking into account the fact that total pressure on the lower
plane of the energy unit well was formed from atmospheric pres-
sure and the pressure, which was made by the emitted photons
and only atmospheric pressure Pa acted on the upper plane of
the cover, we shall have the following dependence

Wy P,+PB,  1.013-10° +1.232-10°

K 5
We P, 1.013-10

=2216 (41)

As a result, the volume of all photons, which formed pressure on

the lower plane of the cover of the energy unit, will be equal to
Wiy = K- Wy =2216-1180 = 2.615-10°m> (42)

account the volume of one

We =3.14-10"%m> (35), we shall find quantity of the photons,

Taking into photon

which formed pressure.

LW _ 2.615-10°

= =8.323-10% (43)
-15
Wy 3.14-10

Equipment at the Sayano-Shushenskaya hydroelectric power
station registered that registered that nearly 5 seconds passed
from the run-away of the electric generator till its blast [5].
Within this time, the repeated fusion of the water clusters emit-

ted 8.323-10%° of the infrared photons, which formed specific
pressure on the cover of the energy unit, being equal

t012317tons / m? .. This hypothesis is closer to reality; moreover,
it is implemented by the military men in some of their devices,
but they do not know the theory of their action and do not see
this analogy.

Thus, we have understood energy power of the impulses of
force. How is it possible to use this power for the benefit of man-
kind? Certainly, electric generators are the main devices, which
produce energy. They are mechanical devices, which consist of a
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rotating rotor and a still stator. Usually, the stator has powerful
magnetic poles. The magnetic poles of the rotor interact with the
magnetic poles of the stator; and voltage, which is supplied to a
consumer, is induced in the rotor winding. The consumer gener-
ates current, which increases expenditures of mechanical energy
to the rotor rotation sharply. The generators of the hydroelectric
power stations, thermal power stations and atomic power sta-
tions operate in this mode. In order to support the specified rota-
tions of the rotor of the generator, energy is consumed continu-
ously in the form of falling water or heated steam. And what if
the consumer needs energy being supplied in the form of the
electric pulses to an electrolyser, for example? Then, it becomes
unnecessary to rotate the rotor of the generator continuously,
because it has a stock of kinetic energy, which can be used for a
generation of the pulses of voltage and current. As a result, the
total energy costs for the rotation of the rotor should be de-
creased [2, 3].

Fig. 10. Electromechanical generator of electric pulses

In order to check this hypothesis, an electromechanical gen-
erator of electric pulses was made with the constant magnets,
which rotor was rotated by the electric motor with the power of
200 watts (Fig. 10). It turned out that the energy costs for its idle
run were 150 watts, i.e. efficiency of this generator was 25% only.
A problem of such device efficiency improvement took place at

once.
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Fig. 11. Diagram of the change of the torques, which act on the
rotor at the time of its start and during uniform rotation
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We do not pay attention to the fact that the initial energy,
which was given to the rotor at the time of its run start, is pre-
served in it in the form of kinetic energy of its rotation; we do not
think how to use it. In Fig. 11, a diagram of the change of mo-
mentum of the rotor is shown.

At the moment of the rotor rotation start, its starting torque
M overcomes resistance in the form of the moments of mechani-
cal resistances —M and in the form of inertial torque —-Mi . As

the rotor stats its uniform rotation, inertial torque becomes posi-
tive +Mi and does not resist the rotor rotation; it aids its rotation
(Fig. 11). It appears from this that in order to support the uniform
rotation of the rotor, it is unnecessary to expend energy conti-
nuously and to support a constant value of operating torque Mp .
Impulse supply of energy, which will increase operating tor-
que Mp for a short time up to the value that is designated by

letter A;, is enough. Simultaneously, the value of inertial torque
will be increased up to the value that is designated by letter B;

(Fig. 11). At this moment, energy costs for the rotary drive will be
decreased almost to zero, and it will become possible to turn off
energy supply to the rotor shaft, because it will keep rotating for
some time(B;K;) because of inertia (Fig. 11). When its inertial
torque is decreased to a value, which is designated by letter K; ,

the automatics will turn on the external power supply.

From the above-mentioned facts, it is clear that it is possible
to save energy for the rotor drive due to its feed by pulses. There
are mechanical devices for pulse feed of energy to the rotating
rotor. They are called overrunning clutches. But they are unsafe
in their operation. What if we use electronics for management of
the electric power feed process for an excitation of magnetic field
of the rotating rotor? The new laws of mechanodynamics and
electrodynamics of microworld, which are in possession of the
author of this article for the time being, gave an astonishingly
simple and effective solution of this problem. As a result, a self-
rotating electric pulse generator was made and tested (Fig. 12).
Its capacity was increased, and energy costs for idle run were
decreased 15fold and were 10 W (Fig. 12).

2 J

Fig. 12. The first in the world self-rotating electric pulse generator
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The first in the world self-rotating electric pulse generator
was designed and made by S.B. Zatsarinin, a talented Russian
engineer, according to our technical assignment. As a result, the
law of conservation of energy was buried, and a new law of iner-
tial increase of electric power, which hitherto was unknown, was
discovered [2].

P1=U1-Il :>kmr2w:>k-U2-12=P2

44
PP 4

The first in the world self-rotating electric pulse generator ge-
nerates current pulses up to 120 A. We shall not itemize a pros-
pect of an implementation of all possibilities of the self-rotating
electric pulse generator, which have already been checked. They
originate from new knowledge concerning microworld; that’s
why they are accessible to those who will master this knowledge.

3. Conclusion

The physical chemistry calculation of the process of the gen-
eration of the force, which has blasted the energy unit at the
Sayano-Shushenskaya hydroelectric power station, will be speci-
fied. But even their approximate results prove that the physico-
chemical process of a break and further fusion of water clusters is
the only source that can form the forces, which have blasted the
second energy unit at the Sayano-Shushenskaya hydroelectric
power station.

Television informed that the disasters, which were similar to
the one that happened at the Sayano-Shushenskaya hydroelectric
power station, took place at Soviet time in the Middle Asia. It
means that they can happen again, and not only in Russia. Spe-
cific recommendations concerning avoidance of such disasters
result from the facts, which have been described by us. But we
refrain from publishing them, because the experts of the state
commissions hope to find other causes of this disaster still. It
only remains to wish them success.

Let us note the main thing. Obsolete Newton’s dynamics can-
not solve such problems. Its old notions “impulse of force”, “im-
pact force” and the mathematical models for their determination
are erroneous. All mathematical models, which describe the vi-
brations, especially vertical ones, are erroneous as well, because
such vibrations have the phases of an addition of the forces of
inertia with the forces of gravitation, which resulted in a sinusoi-
dal dance of the bridge in the city of Volgograd. Certainly, such
dance will be repeated as its main causes have not been found.
They are not found, because there is not theory for modelling
such dance; that's why the losses caused by a disregard of new
mechanodynamics are growing, and they go on growing with
large intensity.

The law of inertial increase of electric power appears from the
new laws of mechanodynamics and electrodynamics of mi-
croworld. They have originated in Russia from a new theory of
microworld, which is not accepted by the Russian Academy of
Sciences. As a result, the Russian authorities do not know that it
is high time to include new knowledge concerning microworld
into the curriculum, because there is no other accelerator of scien-
tific progress at the present stage of development of our knowl-
edge.
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